Derivative Test

¢ 9 derivatives

e 2 equations of tangents (Cat I and I1)

e | differentiability

e | definition of derivative

¢ 1 Always, Sometimes, Never about
continuity and differentiability

e 14 @ 5: 70 points

Like last test--the following problems are NOT a
comprehensive review--they are primarily to
demonstrate presentation of solutions
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1. Find the derivative of f(z) = -




2. Find the derivative of f(z) = —sin(4z —9).
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3. Find the derivative of f(x) = sec? 3z%.
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4. Find the derivative of f(z) = tan 2z cos 5z.
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6. Find the derivative of g(z) = —22*y/x3 — 1.
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7. Find an equation of the tangent to the curve y = 322 — 4z + l atz = 2.
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8. Find an equation of the tangent to y = x* — 1 that is parallel to 64z — 2y + 7 = 0.
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9. Given f(z) = cos, find f219(x).

SER>
45&1’6;
ga\q/x\z {“'/x)

£'(xl=~-sM
%”(X\ -~ - Los X
()= s x

£ 800 = sy



10. At what values of z is the following function NOT differentiable? Make sure you completely justify

your answer. l |
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2) =4 and ¢’(6) = 8. Find h'(2).
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Given f(z) = 2% + x + 1, find f’(z) using the definition of derivative.
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